Rk 26 424 H 8 H

#ENE-sMEB7 75— FREER (V3537 - &)

MRAEAL S A T v 7 AHTERBEMFTERT

(14 530]

Bt

EH, 11,

514, 186,
66%
Bt g 8 EIP=3 -
B4t 54 29 2 85
XEF—L 21 1 0 22
FaER 35 22 2 59
R 30 10 5 45
BRAERINSEE 34 15 1 50
ESA— 12 6 1 19
|t 186 83 11 280
[F#n)
104 | 204k | 304Kk | 404 | 504K | 604% | 701% T | EEH
)8 1 19 12 14 22 12 3 2 85
XEF—L 0 4 9 8 1 0 0 0 22
ik 1 4 9 8 11 20 3 3 59
R 1 3 7 6 9 13 5 1 45
BRAERINEE 4 4 1 4 7 20 8 2 50
ESA— 0 7 3 2 4 2 1 0 19
|t 7 41 41 42 54 67 20 8 280
& 3% 15% 15% 15% 19% 24% 7% 3%




(48]

el ST 2 ST 3 SE{f 4 e

1 HBiERER 48 189 22 2 19
TIFUY 73 117 56 8 27
ROV 54 137 53 5 31
The 67 139 36 5 33
EHIRE 102 151 6 0 21
=9 3T FRI 33 135 67 8 37
I—9iavTF ik 59 147 31 0 43

FHE 1 KK SFECTESR

i 2 . BRCRER " FITETTE:

3 HhFEYEBBETEEI >/ HFEYSELTELGL Iz
i 4 - B TELA S/ TELGA ST

[1 B BEEERA]

BfETEY
hot=
1%
HFEVEMET
Elh ot
9%

10 BfERER ¢t

SR
18%

BHTHE
fi#

72%

HEYEBTE | BETELH,-
KR BHTIERE tEot= 1= T8 B
241 19 59 5 0 2 85
XEF—L 2 17 2 0 1 22
FHER 8 41 4 1 5 59
D 6 31 4 1 3 45
BRARINEE 7 35 5 0 3 50
ESA— 6 6 2 0 5 19
|t 48 189 22 2 19 280




[vyF 2]

I e
1=
3%
22%
FITEIOF
(TE
46%
FFETIEC | HFEYIECTE | [FEAEIEC
5FETES: TEf= ot TELEH I e #
241 33 35 12 1 4 85
XEF—L 2 8 10 0 2 22
FaEp 16 33 6 0 4 59
&R 8 19 11 5 2 45
BRERINTE 12 20 14 2 2 50
ESA— 2 2 3 0 13 19
|t 73 117 56 8 27 280
[HFEO< Y]
Ceanng_ WEATIKY
HFEY3FEC 5FTES=
TELM ST 22%
21%
FFETIEC | HFEYIFECTE | [FEAEIEC
5FELTES: TEf ot TELH I B #
241 19 50 13 2 1 85
XEF—L 2 11 6 0 3 22
FaEp 16 29 11 0 3 59
HRER 6 18 13 3 5 45
BRARINEE 11 26 10 0 3 50
ESA— 0 3 0 0 16 19
|t 54 137 53 5 31 280




[RF&]

[FEAER e P
ﬁ‘G%t;;ﬁ)\; AR
1=
2%
HEYZRT
ElEh o= e
o RRTE=
15% 27%
HFEYXRTE | FEAERRT
RRTES FFETRR HEhot= Ehhotz RER #
=2 25 51 7 0 2 85
XEF—L 3 14 5 0 0 22
ik 13 30 9 1 6 59
&R 7 21 8 2 7 45
WER IR 14 22 6 2 6 50
Eo4— 5 1 1 0 12 19
= 67 139 36 5 33 280
EXE S|
BETER He
RCES IR
0%
HEVEMET
EXAG oY
2%
B¢:
40%
Bt hE
fi#
58%
hFYEMETE | BTSN,
KR BHTHIER Ehot= = PN #
251 35 44 3 0 3 85
XEF—L 10 10 1 0 1 22
ik 17 38 0 0 4 59
&R 19 20 0 0 6 45
HER IR 19 26 2 0 3 50
Eo4— 2 13 0 0 4 19
= 102 151 6 0 21 280




[(D—5 2 3y T4

IZEAESE

{TEGM
1=
3%

HEYSEC
TEHM L
28%

=933y TR

SFECTES:
14%

FFETIEC | HFEYIECTE | [FEAEIEC
5FETES: TEf= ot TELEH I e #
241 11 45 20 3 6 85
XEF—L 3 7 9 0 3 22
FaER 7 32 15 1 4 59
FRER 4 25 9 1 6 45
BRAERINEE 7 23 12 3 5 50
ESA— 1 3 2 0 13 19
|t 33 135 67 8 37 280
(D=9 avyTFi]
BLALSE g poay Stk
Lot :
3% a&;sft
FFETIEC | HFEYIECTE | [FEAEIEC
5FELTES: TEf= ot TELH I e #
241 20 47 11 0 7 85
XEF—L 5 7 4 0 6 22
FaER 17 31 5 0 6 59
HRER 6 26 5 0 8 45
BRARINEE 9 32 5 0 4 50
ESA— 2 4 1 0 12 19
|t 59 147 31 0 43 280




